
Rearranging Equations Review 

Solve for y.  

 

3x - 4y = 16 
 

Highlight the variable you are solving for.  

Use the distributive property, if necessary, to get rid of 

any parentheses.  

Use addition or subtraction to move entire terms to the 

other side of the equal sign.  

Use multiplication or division to get rid of the 

coefficient in front of the variable you are solving for.  
 

3x - 4y = 16 



y - 3 = 4(x - 2) 

 

 

 

15x - 12y = 30 

 

 

 

-5x - y = 11 

y + 2 = -8(x - 1) 

 

 

 

3x + 2y = 12 

 

 

 

4x - 2y = -16 

S
o

lv
e

 e
a

c
h

 e
q

u
a

ti
o

n
 f

o
r 

y
. 


